
Lecture 3 - May 13

Overview of Compilation

Infrastructure: 
Front-End, Optimizer, Back-End 

Stages: 
Lexical, Syntactical, Semantic Analyses

Routines: 
Scanning vs. Parsing



Compiler: Typical Infrastructure (2)

Q. What does the behaviour of the target program depend upon?



Example Compiler 1: Infrastructure





Compiler Infrastructure: Scanner, Parser, Optimizer

Analogy: Compare Compilation to Essay Writing

- words
- sentences
- meaning





while-Loop: Context-Free Grammar (CFG)



Compiler Infrastructure: AST-to-AST Optimizer (1)

AST of input program:
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AST of output program:

Compiler Infrastructure: AST-to-AST Optimizer (2)



Compiler Infrastructure: AST-to-AST Optimizer (3)

Q. How should the various artifacts be connected?


